Tabnuys 7.5

Beplaxr A % o | %
1 . 2. 3 4 L]

i | xv1e2y 1 |2 o5 |10
2 | 14x- g2y 1 2 12 |10
3| 2+ oy 2 3 14 |10
4 1,5y + sin(y?+0,7x) 1 2 16 |10
5 | exp-x-p + 0.5 0.5 1 2 10
6 s rewe 0 1 0.5 10
7 | osxeVEay. o |1 04 |10
8 | xy+Vr0125y 0 1 1 10
9 2+ Vity+ s 0 1 2 10
10 | (-y>cos x +0,5xy 0 1 0 10
11 1+ (1=2)siny - (24x)y 0 1 0 10
12 | yoos? (30,10 + 0,503+ ( 1 0 10
13 09l(0.5x+y)+ry _ 0 1 0 10
14 % e ()} 1 (1 10
15 |-exp-l-x) +x+y ) 1 0 10

6| e Vx'lﬁ 1 2 1 ‘0
17 | yoynx-09/x 1 1.5 0,5 10
18 2+0,1y sinx-0,5y° 0 1 0 10
19 | xy+y* +sin2-0 0 1 0.1 10
20 | P+0,1y +cosxy (] 1 0,2 10
21 | xy+P4oomy (] 1 0.3 10

i 22 2exp(-x2-4x)-2y(x-2) 1 3 10 10 -
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28 | 3expexP+20-3y(-3) 10 10
24 14+x iny -y Inx |} 10
25 | (4y)exp(-0,8x)+x () 10
26 0,25exp(—cos(x+1))~2y(x-1) 4 10
ol e 28 g2 o to
28 | sn?(0,6xexp(-r*+20)-2y(x-2) s 10
29 | 1+ysnx-08y° ) 0
30 | cos(0,8x)exp(-x*)—4y(x-3) ] 10




